TTR3

Effective:

Oct.

2024

Supersedes:

Jul

2020

g

Detailed
Checked

oolus

As Required

1u
8

max.

ool

3

=3

DETAIL OF 2"@ ROUND HEAD

¢ 1 1/8"x 2 1/2"

Slotted
Holes

structural

in hollow

section—-—=

BOLT

13" 13"
#
-~ - A
/’\\ /’\\ -
\\// \\//I
Without Slot With Slot

Locknut =*

5/8"@ x 1 3/4"
with flat washer &
pipe spacer,

RAIL SPLICE CONNECTION

AT EXPANSION JOINT

or Recess

VIEW B-B

¢ Rai

& € 1"0 Holes

¢ 1"Q Holes

r»C

143"

Typ.

[l

E Typ
16
END OF RAIL DETAILS
13" @ expansion
splice @ 50°F
Steel Tubing
Fe . % LIL_ -
19 ®B 11 o @
———————————— = F---lt-—F-—--R------
‘ ‘ ‘ | | 94— Locknut
i i i i i ¢ Splice
| a4 a4 | oo
1 | 1 1 11/16"0 Holes
Cap Screw in 3/8" Plate
3/4"Q '
1/2" long 20
PLAN BOTTOM SPLICE PLATE
TYPICAL
R 3/8"x 2 1/2"x 20"
(Top & Bottom) - Typ
T R 3/8"x 2 1/2"x 20" |
.\ (Top & Bottom) j,‘ Typ.
16
3/8"x 6 7/8"x 20" P 3/8"x 4 7/8"x 20"
ach Side) 3  locknut % {Each side) ——Locknut x
. s i
5/8"@ x 1 3/4" T 5/8"@ x 1 3/4"
Cap Screw 444/;51T Cap Screw AAJ/)E?U
with flat washer ; € 3/4"0 Holes with flat washer : € 3/4'0 Holes
in tubing in tubing
TOP RAIL BOTTOM RAIL
SECTIONS AT RAIL SPLICE
Note: This drawing is not to scale. Follow dimensions. Sheet No. of

4
=—— Roadway Face
1%\1
T
v 1%” DATE PREPARED
== 10/17/2024
g ‘ ROUTE STATE
L 2 MO
‘ ‘ DISTRICT SHEET NO
L 000
‘ ‘?»I T COUNTY
€ 5/8"0 Reduced Base | ‘: - :
Welded Threaded Studs. u/4?r774771 108 No.
Provide four 5/8" washers
and self-locking nuts, = CONTRACT 1D.
or nuts and jam nuts o~ .
for guardrail connection N « PROJECT NO.
MN’\L
=) BRIDGE NO.
LI |
AR * :
| - -y
L LI
%T e
8
SECTION C-C c
o
o
Q
("]
w
a
w
[
<
a
. = P el
Notes: 9 o SE
—un
Fabrication of structural steel shall be in accordance with Sec 712 Z it
and 1080. = oowr
5 G
Hollow structural sections shall be in accordance with ASTM a 0w
designation A 500 Grade B Structural Steel Tubing and shall meet the 2 =E3
longitudinal CVN requirements of 15 ft-Ibs at 0° F, see Sec 1080 for < P
i o az -
reporting. '_% §'_
All other steel shapes and plates shall be in accordance with AASHTO o~ %8
M 270 Grade 36 except posts shall be in accordance with AASHTO M 270, § & w g
Grade 50. — weo
22 2
All anchor bolts shall be ASTM F1554 Grade 36 with ASTM A563 Grade A <O o>
hex nuts and ASTM F436 hardened washers. %‘J ®
[G] !
))&

Bolts, cap screws,
designation A307 except for

and nuts shall be in accord
high strength bolt

washers noted which shall be in accordance with AASHTO M 164.

All anchor bolts, bolts, nuts, cap screws, washers and lock washers
shall be galvanized in accordance with AASHTO M 232 (ASTM A153),
Class C.

All posts, railing, rail splices, and angles shall be galvanized
after shop fabrication in accordance with AASHTO M 111 and ASTM A385.

Galvanized rail shall not be painted.

Railing shall be in accordance with Sec 713,
All field drilled holes shall
paint before erection.

HSS =

Hollow Structural Section

x Tack weld nut to plate.

ance with ASTM
s, nuts and

except as noted.

be coated with an approved zinc

rich

MISSOURI




